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Puplic class Q1{

puplic static void main (String[]args){

for (i=2;i<=5;i++)

System.out.printin(i);}}

Puplic class Q2{

Puplic static void main (String[]Jargs){

int i=1,j=1,n=1;

While(i<4){

While(j<=i){

n+=1;j++}

i=i+1}

System.out.printin("i is"+i +"j is"+j+"n is"+n);}}
Q3:

import java .applet.*;

import java .awt.*;

puplic class Drawinglines extends Applet{

int width , hight;

puplic void init( ){ width=getsize. width ; hight = getsize. Hight ;
setBackground(Color.black);}

puplic void paint(Graphicsg){
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g.setcolor(color.green);
for(inti=0;i<10 ; i++){
g.drawline(width , hight,i* width / 10 ,0);}}}
Puplic class Q4{

Puplic static void main (String[]Jargs){
Int x[J=new int[5];

For(i=5;I<=4 ; i++)

X[i]=2%1;

System.out.printin(x[i]);}}

Puplic class Q5{

Puplic static void main (String[]Jargs){
Int a,b,c;

a =8;b=a;c=b;
System.out.printin(a+b+c);}}

Puplic class Q6{

Puplic static void main (String[]Jargs){
Int i=0,j=0;

For(j=0,j<8,j++){i++;}
System.out.printin(" "+i);
System.out.printin(" "+j);}}

Puplic class Q7{

Puplic static void main (String[]Jargs){
int i=0;

for(i=1;i<=5;i++){

int sum=0;}

System.out.printin(sum);}}
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Puplic class Q8{

Puplic static void main (String[Jargs){
int x=3 , double y=5.5;
System.out.printin(x+y);}}

Q9:
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Puplic class Q14{

puplic static void main (String[]args){
Boolean b=false;

Inti=1;

do {i++;

b !=b;}

while(b);

System.out.printin(" i=" +l);}}

puplic class Q15{

puplic static void main (String[]args){
char c=a;

switch(c) {

case 'c': System.out.printin("a");break;
defalt : System.out.printin("defalt");}}}
puplic class Q16{

puplic static void main (String[]args){
inti;

for (i=0;l =<5; i++){

if ((1%2)==0) continue ;

System.out.printin(i);}}}
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